CEY

Unit 2 Quiz Review Homework

1. Solve. 2. Solve for the given variable.
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3. Solve and graph your answer. 4. Solve for the given variable.
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5. Label each step wi & erfy used.

Given: 3(6x+1)=13x+5

Prove:x =1
3(5x +1) =13x +5 Given
15x+3 = 13x + 5 Distributive Poop
15xC 1324 3 = 13x + 5 13p) Sub‘l’ra(,{—mm Pop of =
2x+3=5 Subshtution
2x + BF 3 )= 5(— 3) Subtractow PFDD ot =
k=2 Substitution
(2)42) Division Propof =
x=1 Cubotituton




6. Name the property.

a) x+y=y-+x COW\VV\LL'{'&h’V@
b} 100%0 = 0 it P”W”OF 764D
¢) 15¢ + 15d = 15(c + d) ChghibMﬁVClﬂﬁP

d) If x+y=3then3=x+vy SLBWV\I/V\E'*-HO DrDD

) 6=6 retlexive Prop

7. Keith has $500.in a savings account at the beginning of the summer. He wants
to hovT the end of the summer, He withdraws $25 per week for
food, clothing, and movie fickets. How many weeks can Keith withdraw money
from his account? T

Write an inequadlity to represent the situation.
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25w = ~300
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Explain your answer. *
Keith can withdraw money for 12 weelks
ov__less o meet his qoal ot %thﬁcd
least 8200 o Yhe end of sumwer
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